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public class ODbjA { ¥ IenE -
public int a; LEER
public int b; tEEE
public static void main(String[] args) {

ObjA objA = new ODbjA();

objA.a=09;

objA.b = 100; BpdEd (EFFTHEEFT?)

funcl(objA); :

(1) | System.out.printin("a="+ objA.a + ", b="+ objA.b); | [54] Haimie - | EEmE -
. POOT 108800
int[] numbers = {96, 62, 43, 85, 71 };

I { J POOZ 368000

func2(numbers);
for (int i = 0:i < numbers.lenath: i++) { FOO3 201600
(2‘) I System.out.print(numbers[i] + " "); | [10 ~ ) FOO4 50400
}

public static void func2(int[] array) {
for (int i = array.length - 2; i > 0; --i)
for (intj=0; ) <I; ++))
if (array[j] > array[j + 1])
func3(array, j, | + 1);

}
public static void func1(ObjA s) {
int c=s.a;
s.a=s.b;
s.b=c;:
double d = Math.sart(s.b) + 2:
(3)} I System.out.printin((int) d); I [5 4 )

private static void func3(int[] array, int indexA, int indexB) {
int tmp = array[indexA];
array[indexA] = array[indexB];
array[indexB] = tmp;
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P E PR 2 (Selection Sort) iz o IR
% (ascending order)$t & i 47 o [20 4 )
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